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WORK IN PROGRESS

We consider programming languages that
compute the set of primitive recursive
functions
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All the 4 languages compute the same

set of functions but definitely
not in the some manner

The time of computation distinguishes
the way they compute

we speak about the algorithmic expressiveness

of programming language



A language for PR combinator PRC
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Operational semantics one step
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we dente by cost e va vn the minimum member

of one step reductions that leads to a value

Mointheorem for a n.org PRC e

a there esin.tn 2 constants kciais in



tshîthatnhreverf éniehave

mare x 1 Ecostfelxa xD ske

a orthoça p indezantignardntlearst

mars un rn cost Kh xp s x a

Applications

Colson The function my min la g
is PR but there is no PRC to
evaluate it with a cost in min la g

6g The function a Llog x is PR
but there is no PRC la evaluate it
with a cost in log a
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